AINTENANCE
TOOLS

SEP 1961

Bulletin 540-B

 AUTOMATIC 5> ELECTRIC

®
Originators and Developers of the Strowger Step-by-Step “Director” for Register-
Sender-Translator Operation . . . . . Machine Switching Automatic Dial Systems

Makers of Telephone,Signaling and Communication Apparatus...Electrical Engineets, Designers and Consultanty

Factory and General Offices: 1033 West Van Buren Street, Chicago 7, U.S.A,



Factory and General Offices of Automatic Electric Compuny, Chicago, U. 8. 4.

AUTOMATIC ELECTRIC COMPANY is an organization of designing, engineering, and
manufacturing speeialists in the fields of communication, electrical control and allied arts.
For more than sixty years the company has been known throughout the world as the
originator and parent manufacturer of the Strowger Automatic Telephone Systemn, Today
Strowger-type equipment serves over 75% of the world’s automatic telephones. The same
experience and technique that have grown out of the work of Automatic Electric engi-
neers in the field of telephone communication are alse being successfully applied on an
ever-inereasing scale to the solution of electrical control problems in business and industry.

PRINCIPAL PRODUCTS

Strowger dutomatic Telephone Systems-— Com- connections, and with facilities for special control
plete automatic central office equipment for ex- services to meet the needs of the user.
change areas of any size, from small towns to the

largest metrapalitan networks. P.B.X. Switchboards—A compléte range of cord-

fess and cord types for the modern business.
Community Automatic Exchanges - Unattended
autematic units for small rural or suburban areas,
with facilities for switching inte attended ex-
changes,

Telephone Instruments — Modern designs for
aumlomatic or manual exchanges, including the
Monophenc—the world’s most attractive and effi-
cient handset telephone.

Automatic Tell Boards — An adaptation of
Strowger principles to toll switching, resulting in
simplification of operators’ equipment and greater
economy of operating and toll eircurt time.

Exchange Accessory Equipment — Auxiliary ex-
change and substation equipment, including
manual desks, testing apparatus, transmission
) equipment, and all accessories needed for the
Private Automatic Exchanges — Available in operation and maintenance of the modern tele-
various capacities, with or without central office phone exchange.

Makers also of electrieal control apparatus for industrial, engineering and public

utility companies, telephone apparatus for railroads and pipe line companies,

private telephone systems of all types, electrical and communication devices for

aireraft and airways control, and special communication apparatus for military
and naval departments,



MAINTENANCE TOOLS

TEST STAND, UNIVERSAL
(STROWGER SWITCH)

-

Approx..

f— 6'-5/_5"'—-1

H-881346-4

ASSEMBLY 4

_k ] u
= —I— [ o
£F
1
&
g b o —fg o
ST 18T -
A o
= .
8 =1 e
E -
§ L1
=3
2
13 ] '—J S
U\ v \ AW B JJ
\.« I~"Approx. 10-1/4"~—-l ‘-——Approximately 1’-2"————l,
REAR VEEW END VIEW

For use as a holding fixture when testing and adjusting
standard and special length Strowger switches and
relay groups having standard switch jacks.

TEST LAMP

H-16339-1
and 5

!

48 volt switchboard lamp D-94005-A ASSEMBLY.1
24 volt switchboard lamp D-94025-A ASSEMBLY'S

For general use

TEST SET, WIRE CHIEF’S

H-880180-1
and 2

lea— —— Approximately 7-1/ 2”—-————1

<

225
OGRDO O‘HP 0n.l: Qn.m?
@ SHUNT @ @

TALK,

TITIIT
Approximately 10*

OBO

@AME PLAT@

Assem. 1 Equipped with 5 harmonic ringing keys
Assem. 2 Arranged for single frequency ringing

For use in small automatic or manual exchanges for
testing outside plant conditions and general exchange

operation.

PRECAUTION: Circuits of test sets must match those
of equipment to be tested.

TESTER, LINESWITCH

f——Approx. 8-1/4""—]

H-7443-5,6,7,
10 & 12

® =

LINE SWITCH TEST PENCIL

ASSEMBLY NO.

H-T443-5
H-7443-6
H-T7443-7
H-7443-10
H-7443-12

RESISTANCE

500
800
750
1000
1200

For use in testing plunger lineswitch operation

27




BULLETIN 540-B

TEST SET, PORTABLE H-880132-1 and 14
! : : L -
1 00000000
g
g
[ [w]s]n/nn]n{na]
le——— Approximately 10— L—ﬁr\A’pproximately g7

= 000000

Assem. 1 Domestic use
Assem.14 International use

For use in making speed and percent make measurements
on loop, ground, or battery pulses or pulses derived
from another source of 44 to 52 volts.

28

TEST PLUGS D-57048-A
D-57030-A
D-57037-A
D-57038-A

For use in general testing

Q




MAINTENANCE

TOOLS

TEST, HAND TELEPHONE

. N
(]
CinlY | £
bR Y
b
R
1 !
L i
o)
: [
v [N
r | ®oy
. 'y
= R
J@ Lyt
P
=
&
2
3
E
]
&
- <
al p 00,

L-965

\JFor general switch room use and watchman’s service.

Uses plugs and cords below:

L-865-A0

]

D-542313-A  (cord inciuded )

2 POINT' TEST PLUG ASSEMBLY

L-965-A6
D-542349-A
CORD AND PLUG ASSEMBLY
L-965-A2

(\

D-542320-A

CORD AND TEST CLIP ASSEMBLY

29




BULLETIN 540-B

WRENCH, JACK FASTENER M-6656-1, 2 WRENCH, HEXAGON SOCKET H-11841-1 -~
] - o
o)
[
¢——————Approximately 5-3/4"’
R AL
- O — 3
VIR 1) 8
.;—F;g' g
<
g o o
2
[
2§ 3, For 9/16* nut
(=] '
o z
2 g é’ For use on line switchboard sections
g ¥
g 7
a < .
< § WRENCH, HEXAGON SOCKET H-13748-1
g
2
3‘ ° IR
je-———————Approximately 8" _ :';
1 — AR
©) i — T |
. |-‘| :."J‘ T 8
i it 4 g
1 ) ' §
v (¥
= =
For 5/16” nut
k A R
' For use on plunger lineswitch banks
Assem. 1 Assem. 2

For use in mounting manual board jack strips WRENCH, HEXAGON SOCKET H-46440-1

WRENCH, ‘S HEXAGON H-10774 )

1—; —n
. @

Approximately 4"’ ——

Approximately 3-11/16"’

3/8” nut .085"" thick 5/167 nut For 7/32"* nut

For use on hexagon head screw that fastens the double
For general use dog clamp, rotary and vertical clamp and the shaft spring

30




MAINTENANCE TOOLS

WRENCH, HEXAGON SOCKET H-7058-1

WRENCH, HEXAGON SOCKET H-10053-1
V N Y
,[ S — % A
'[-—Approxlmately 5 !f&-Approxlmately 47
—=z ! L |
f S
£ $
® -
~« T
g s
q £
2 X
4 5
3 T
< f\ B l .‘LJN }‘lw
P2 [t g P {
JL iis) B
Wrn s
—O—— ——@®)— ,
For 3/8" nut For 5/16% nut
For use on Strowger switch rotary magnets and For use on plunger lineswitches and general use
general use
WRENCH, MONOPHONE SPANNER H-43173-1
\or
[ Approximately 5" —
.
5 218" ‘
WRENCH, SQUARE SOCKET H-7061-1 z T ______________________ ==
z e !
~ : | i
— 5 ! < ns”
] ‘Approximately 4’ — —---! £
C T}
I e q
3
:». For use in removing cradle from Types 1A and 31
é Monophones
g
5
JL- —— WRENCH, SLOTTED NUT H-7065-1
f ]

C 1& J Approximately 7-1/4" —— : i 050
~ 44 :F’

For 1/4*' nut :?'I:—T @

For use on master switch shaft clamping screws

For use on #8 circular slotted nuts

31




BULLETIN 540-B

WRENCH, JACK THIMBLE MP-1221-A

Approximately* 5-1/4"——— &

q— . 250"

Fe—

* 260"

For use on jack thimblie of magneto manual boards

WRENCH,; SPINTITE H-46437-1
Approximately 6-1/8""
’ "Approxlmately 2-7/ 8"%

For 3/16" nut

For use in assembling wipers to Strowger switch shaft

WRENCH, CAM NUT SOCKET H-16480

194" minimum
199" _maximum

[-—‘Approxlmately 2-1/2"4—|

®
A30°

For use on dial cam nut

WRENCH, HEXAGON SOCKET H-10772

}s——Approximately 3-7/8"—w

=]

Approx. 2"—ﬂ

For 5/16°* nut

For use on flat type terminal strip assemblies used in
a hand drill or screw drivers having a chuck for holding
interchangeable blades -

32

WRENCH, ‘‘S’’> HEXAGON H-20703

V

Approximately 4-7/8"

For 5/8'* hexagon nut .095'* thick For 5/16°' hexagon nut

For use on rotary line switch Types 13 and 14

WRENCH, OPEN END H-880773-1

Approximately 3-11/16""

3/8° nut 1/8" thick 7/16° nut
For use with Type 44 and 45 switch ~
WRENCH, 8” H-50448

Approximately 3-11/16"—— =

C I

o
1
T

7/16’’ nut 9/16’’ nut

For use on Type 29 ringing converter and general use

WRENCH, S”’ H-7062

Approximately 3-11/16"

o

1/4” nut

.065” thick

7/32” nut

For general use and adjusting residual screw on relays




MAINTENANCE TOOLS

WRENCH, ‘S” H-7063
['—7Appronmtexy s-u/w'—.‘
3/8’’ nut 1/8" thick 5/16" mat
For general use
WRENCH, DIAL H-25937

1 A\

ok

Approximately 2-1/4"

..35;_.
Opening .256'' max., 253" min.

For use on dial governor and cam nut

N

WRENCH, ‘8” H-20309

Approximately 3-11/16"'

5/16" nut " 1/8” thick 7/32" nut
For use on harmonic ringer
WRENCH, PAYSTATION P-60481-2

Approximately 3-3/87*

- (

- D?TAIL NO. 2
[ 3/16** THICK
5/16"" nut

For use in adjusting polar relay of pre-pay and post-pay
paystations (tightening pivot screw lock nut)

H-880772-1

<5

WRENCH, OPEN END

>

Approximately 3-1/2"

1/4”’ nut 083" thick 3/16"° nut

For use with Type 44 and 45 rotary switch

WRENCH, END H-23865

Approxtmately 5'*

—

5/8°’ nut

D

For use on rotary lineswitch armature adjusting screw

WRENCH, OPEN END H-880672-1

EAmrmﬂmtcly 4-1/8————>

25/64’’ nut

5/16"" nut

For use on Strowger switch vertical and rotary magnet
locking cap and general use

WRENCH, OPEN END H-880771-1

| Approx{mately 6-11/32""

5/16" nut .083"’ thick 1/2’ nut

For use on Type 45 rotary switch

33




BULLETIN 540-B

WRENCH, WIPER H-T057

L]
(e .
! —

e - Approximately 3-23/32"—- -~ -

(

"1-5/327

Approx.

g

For use on Strowger switch wiper with threaded hub
and nut

WIPER, ASSEMBLY TOOL H-50829-1

[*—Approximately 2’’———

——— Approximately 3”—-————7

il

For use in reassembling minor switch wiper

"nI! L

Assem. 1

34




MAINTENANCE TOOLS

TEST PLUG AND CORD ASSEMBLIES

"

See table for code numbers

TYPICAL PLUG AND CORD ASSEMBLY

USE ASSEMBLY

For Protector Length
of Cord | With twin plug for jack assembly | With twin plug for |, . :
: ~H-47082-1 jack bax or With spade terminal
H-50830-1 & 2| H-880982-1 |H-11022-11 test box,| (RePlacing twin plug)
A.E.Co. Type 676 12°-0” D-57068-A D-57068-H D-57068-C
18’-0” D-57068-B D-57068-J D-57068-D
A.E.Co. Type 675 12°-0” | D-57140-A D-57140-E D-57140-C
10, 20, 21 and 22 pair| 18’-0”’ N-57140-B D-57140-F D-57011-A D-57140-D
banks
A.E.Co. Type 675 18’-0"’ D-57107-A D-57107-B D-57045-A
50-51 pair banks
\_Jook Electric Co. | 12-0' | D-57099-A D-57099-E D-57099-C
Type 3800 18°-0’? D-57099-B D-57099-F D-57099-D
Cook Electric Co. 12’-0” D-57141-A D-57141-E D-57141-C
Type 100 18’-0” D-57141-B D-57141-F D-57021-A D-57141-D
Cook Electric Co. 18’-0”» D-57017-A
Type 60
Cook Electric Co. 12’-0’? D-57143-A D-57143-E D-57143-C
Type 10 18’-0"’ D-57143-B D-57143-F D-57014-A D-57143-D
W.E.Co. 12°-0” D-57142-A D-57142-E D-57142-C
Type C-50 and C-52 | 18°-0”’ D-57142-B D-57142-F D-57142-D
W.E.Co. Type 1168, | 18’-0”’ D-57020-A
1169, 1268, 1269 and
1177-A
Reliable Electric Co.| 12°-0”’ D-57060-A

For use with exchange distributing frames (H-50830-1 and 2 are 1/2”’ centers) (H-880982-1 are 1’’ centers)

35




BULLETIN 540-B

PRODUCT-TOOL-USAGE GUIDE o4
~TOOLS PRODUCTS ~
STEPPING RELAYS MISCELLANEOUS
sWrTOHES TE
10
~| ! Mo
A = Ak :‘E I LS P P e
EREEEEEE LIS EIE (R |5E|L|ElS I8
Sgao.o‘foo%mag'g}"g olw NP‘QEE‘“
alalal@laldl@leidlal iolal |&le|Z|E & OE
DESCRIPTION PART NO. 35@@58‘5566‘66’?"346‘4252:&%%&
ﬁ§22g323<< S EaﬁQEO“
C.’Jma)wm"m:*éll'c:b‘Or.Eowoo = Ohssg
A== B B A S W L A L IR T A R
OI&Ie|e|eleleltliglalalglsl (Big] |3 3528
(9| EREEEEREERE R REEE
E;E & L ] =) i E
> n /
Clip, Busy D 15455 AlX
Box, Harmonic Ringer D 40059 AlXx
Spacer, Insulating D 44757 A |X i
Sleeving, Cleaning (DRY) |D 542539 A |X|x|X[{X|X| [X ~
Adjuster, Armature H 1086 |X-
Wrench, Wiper H 17057 X
Wrench, Socket H 7058 1 X| Ix|x|x
Adjuster, Hookswitch H 7059 X| .
Wrench, Socket H 17061 1 X
Wrench, 8" H 7062 MESHIZIESE: x| x|x| Ix ‘X ‘X
Wrench, ‘S H 17063 X - ‘
Adjuster, Spring H 17066 X
Adjuster, Double Dog H 7067 X
Adjuster, Bank Contact H 17068 3 X
Tester, Lineswitch H 7443-5 to 12 X
Gauge Blk., Plunger L.Sw. |H 7541 3. X
Adjuster, Plunger Arm H 10001 3 X
Wrench, Socket H 10053 i X
Wrench, Socket H 11841 1 X
Adjuster, Armature H 13398 1 vX'_
Adjuster, Armature H 13700 11X
Adjuster; Frame H 13701 ' X
Wrench, Socket H 13748 1 X, X
Adjuster, Armature H 14768 ‘X X
Adjuster, Armature Stop H 14769 ) X X, o
Pliers, Spring Adjusting |H 16200 7 X X -
Wrench, Cam Nut Socket H 16480 P

36




- MAINTENANCE TOOLS

' PRODUCT-TOOL-USAGE GUIDE
TOOLS :PRODUCTS
STEPPING RELAYS MISCELLANEOUS
- SWITCHES §
z ;
Z|e =l | & B 5%
SlEl L Blla e lalals] o] (elel |2lE|5|2
52 E ERRIFIRPIEIEE ISR [5IE alElo|8lE
22(512|8|5/e]ala|a 8l 52| |SI8] |B|5|5|6 E|S|2
DESCRIPTION | PART NO almlais|=lals|SISISISI 8182 <O d'amgu =83
- Ilolasleizizlo|loio|o|o|Ol & |9 1S <™ T a5 Blal™
5A8m¢®vgﬁ<< 523 E'm“gg<:o
UE'HHNQ‘,V«»" --'Uwoo =1 OHEEE
HRAEE R R RERNEREN REEEERAE
olzizialele| eS| elalel sl 1818 |RIZ] |8|5|%|8
i £8(2812 23] 17K (o7 F|AFE
g : ~ 2 =
¢ e
Cleaning , Bank H 16590-1 & 2 | X]
“Adjuster, Spring H 20179 1 XXX
Adjuster, Spring H 20777 X X ‘ X
VAdjuster, Rotary Pawl H 23413 11X
Wrench, End H 2385 Xi{X|X
Lineswitch, Mounting_ H 24528
Adjuster, Spring H 24600 X ) X . X
Wrench, Dial H 25937 1 X
Dial, Escutcheon H 26917 X
Adjuster, Spring H 42873 X X X
Cleaner, Contact H 42962 1 |X|X{X{X|X|X|X|X[X XIXiX|x|X|xXixXI1XI(xX X|x
Monophone Tool H 43172 X
Wrench, Spanner. H 43173 1 X
Adjuster, Spring H 44359 X
‘Adjuster, Spring H 45590 X
Adjuster, Armature Stop |H 46410 X
Adjuster, Spring H 46411 X
Adjuster, Spring Holder H 46412 X
Adjuster, Detent H 46413 - X
Wrench, Socket H 46437 1 }1X
Wrench, Socket H 46440 1 |X
Gauge, Thickness H 46795 50 |X|IX({X|XIX|X|X|X[X|X[X[X|X|X[{X[X|X X
Adjuster, Spring H 46974 1 X
Adjuster, Spring |H 46975 1 X
Adjuster, Cam H 47202 X
\"Cleaner, Rotary Switch |H 47386 1. X[ X|X|X|X|X
Pliers, Duck Bill H 50620 ) XX




BULLETIN 540-B

PRODUCT-TOOL-USAGE GUIDE

TOOLS

PRODUCTS

C

STEPPING RELAYS MISCELLANEQUS
SWITCHES iy
- ©
. :
|z - = E’ % |&
&l2 IElLlalblnlEE] |2l2] |=l2] |e|lg]?
= EEEEE BRSO REEIRE NS
SS.’EFWB'B'"S_Owwmmmm B mﬁ;ﬂgw<@
= AR E R EE RS R R E
DESCRIPTION PART NO. |~|m|Q|212(S16{C|0|0|0(0|2|0|<|S]| 2|55 (2|82
ARBEIM RS b HE R EEEEIEEM
5} E ° Bl |wloie=i= v = o = &)
S R R NI R EIN B EHEIEIE I,
AMEEEREENERININE Blg HE;DEME
E|O|FFE I B & BB B | |3 15 18l&|g L
E‘ . E_;:, 2 | ﬁ‘ & g g‘ S| (o9 =13 i
g =3 B
= 7 ;K
M I
Monophone T ool H 50754 X
Wiper, Assembly H 50829 1 X
Adjuster, Armature H 56518 X
Cleaner, Rotary Switch H 56628 1 XX
Cleaner, Rotary Switch H 56628 2 XIX|X X
Adjuster, Spring H 64670 X
Adj:ister, Spring H 64980 X
Pliers, Jack Spring H 880621 1 X
Screwdriver, Cabinet H 880622 1 X
Wrench, Strowger Magnet {H 880672 1 IX
Wrench, Rotary Switch ‘H 880771 1 X
Wrench, Rotary Switch |H 880772 1 XX
Wrench, Rotary Switch H 880773 1 | XX
Adjuster, Spring H 88385 X
Adjuster, Spring H 88390 X
Gauge, Jack Sleeve H 88409 X|
Pliers, Duck Bill 30° H 88436 X X
Adjuster, Armature (57aL) | H 88502 1 X
Adjuster, Armature (57as) |H 88503 1 X
Adjuster, Spring H 88504-1 & 2 X
Cleaning, Bank Brush H 88844-1&2 |X
Wrench, Jack Fastener ‘M 6656-1 & 2 X X
Wrench, J4ck Thimble MP 1221 A X
Lamp, Visual Face MP 4425 A X
Gauge, Manual MP 5127 A X
Extractor, Lamp Cap W.E. 319 B X
Extractor, LampCap . |W.E. 553 A X

38




W' , INDEX

(Numerical)

CODE NO. PAGE CODE NO. ) PAGE

H-16590-1&2 . . . . . . . . 1

D H-16978-1 . . . . . . . . 1

] H-20179-1 . . . . . . . . 1

H-20309 . . . . . . . . . 33

D-15455-A . . . . . . . . 10 H-20703 . . . . . . . . . 32
D-18175-A . ) | H-20777 . . .. . . . . . . 3
D-40059-A,B,C,D, E F&G . . . . . s H-21766 . . . . . . . . . 22
D-44757-A . . . . . .21 H-22045 . . . . . . . . .19
D-55165-B&C . . . . . . . . 25 H-23355-1,2,3&4 . . . . . . . 25
D-57030-A . . . . . . . . 28 H-23413-1 . . . . . . . ..o
D-57037-A . . . . . . . . 98 H-23865 . . . . . . . . . 33
D-57038-A . . . . . . . . 28 H-24528 . . . . . . . . .11
D-57043-A . . . . . . . . 14 H-24600 . . . . . . . . . 4
D-57048-A . . . . . . . . ‘28 H-24664 . . . . . . . . . 22
D-440197-A&B . . . . . . . 21 H-25314-1 . . . . . . . . 8
D-54207-A . . . . . . . .1 H-25906-1 . . . . . . . . 2
D-542539-A . . . . . +« . . 2 H-25937 . . . . . . . . . 33
D-731450-A&B . . . . . . . 8 H-26221-1 . . . . . . . .2
H-26917 . . . . . . . . . 12
\ % H-42873 . . . . . . . . . 4
H-42962-1 . . . . . . . . 10

H H-43172 . . . . . . . . .11

H-43173-1 . . . . . . . . 31

H-7056 . . . . . . . . . 8 H-44359 . . . . . . . . . &4
H-7057 . . . . . . . . . 34 H-44514-1 . . . . . . . . 13
H-7058-1 . . . . . . . . . 3 H-45590 . . . . . . . . . 4
H-7059 . . . . . . . . . 1 H-45963-1&2 . . . . . . . . 22
H-7061-1 . . . . . . . . . 3 H-46410 . . . . . . . . . 3
H-7062 . . . . . . . . . 32 H-46411 . . . . . . . . . 3
H-7068 . . . . . . . . . 33 H-46412 . . . . . . . . . 2
H-7065-1 . . . . . . . . . 3 H-46413 . . . . . . . . . 2
H-7066 . . . . . . . . . 1 H-46437-1 . . . . . . . . 32
H-7067 . . . . . . . . . H-46440-1 . . . . . . . . 30
H-7068-3 . . e e e .2 H-46556 . . . . . . . . . 9
H-7443-5,8,7, 10812 . . . . . . oo H-46557 . . . . . . . . . =8
H-7541-3 . . . . . . . . . 15 H-46716-1 . . . . . . . . 2
H-10001-3 . . . . . . . . 2 H-46795-1,50 . . . . . . . . 16
H-10053-% . . . . . . . . 31 H-46974-1 . . . . . . . . s
H-10058-21&22 . . . . . . . 20 H-46975-1 . . . . . . . . s
H-10772 . . . . . . . . . 82 H-47202 . . . . . . . . . s
BH-10774 . . . . . . . . . 30 H-47386-1 . . . . . . . . 10
H-11841-1 . . . . . . . . 30 H-47754-1 . . . . . . . . 29
H-13398-1 . . . . . . . . 8 H-50448" . . . . . . . . . 32
H-13700 . . . . . . . . . & H-50619 . . . . . . . . . 19
H-1370 . . . . . . . . . 2 H-50620 . . . . . . . . . 18
H-13748-1 . . . . . . . . 30 H-50754 . . . . . . . . .11
H-14315-1 . . . . . . . . 14 H-50829-1 . .. . . . . . . 34
H-14768 . . . . . . . . . 3 H-56518 . . . . . . .. . . s
\.H-14769 . . . . . . . . . 3 H-56628-1&2 . . . . . . . . 10
H-16290-7 . . . . . . . . 18 H-64670 . . . . . . . . . s
H-16339-1&5 . . . . . . . . 97 H-64980 . . . . . . . . . 4
H-16480 . . . . . . . . . 32 H-56628-4 R &




CODE NO.

H-74573-1&2
H-74611 .
H-~77120-1
H-78979-1&2
H-88064-1&2
H-88385
H-88390
H-88409
H-88436 .
H-88502-1
H-88503-1
H-88504-1&2
H-88733-1&2
H-88844-1&2

H-880132-1&14
H-880180-1&2

H-880263-1
H-880621-1
H-880622-1
H-880623-1
H-880672-1
H-880771-1
H-880772-1
H-880773-1
H-880859-1
H-880922-1
H-881174-1
H-881192-1
H-881346-1
H-881346-2
H-881346-1
H-881346-4

H-881444-182

H-881513-1

L-965

JWS:av

Revision J-53

40

INDEX (Cont'd.)

[ ]
(Numerical)
PAGE CODE NO.
10
18
8
24
24
4 M-6656-1&2
1
15
18
6
5
5
24 MP-1221-A
9 MP-4425-A
28 MP-5127-A
27
26
18
22
25
33
33 P-60481-~1
33 P-60481-2
32 P-60481-3
23 P-60481-4
17 P-60481-5
23
24
26
26
26
27
25 W.E.Co. 68B
16 W.E.Co. 9B
W.E.Co. 79C .
W.E.Co. 319B .
W.E.Co. 553A .
W.E.Co. 557-A

29

W.E.Co. R-62267

W.E.Co. T0F

30

32
17
15

19
15
19

Printed in U.S.A. by John S. Swift Co., Inc. 1M--7-53

PAGE




T ELECTRIC.
ALTOMATIL E_I.E[TRI[

Originators and Developers of the Strowger Step-by-Step “Director” for Register-
Sender-Translator Operation . . . . . Machine Switching Automatic Dial Systems

Makers of Telephone, Signaling and Communication Apparatus.. Electrical Engineers, Designers and Consultants

Factory and General Offices: 1033 West Van Buren Street, Chicago 7, US.A.

DISTRIBUTORS IN U.5. AND POSSESSIONS

AUTOMATIC ELECTRIC SALES CORPORATION
1033 West Van Buren Street, Chicago T, US.A.
Sales Offices in All Principal Cities

AFFILIATED MANUFACTURERS
Automatic Eleetric {Canada} 1953 Limited . - - Brockville, Ont, Canada

Automatique Electrique, 8.A. - - -+ - - . - - . . Antwerp, Belgium
Auteleo Mediterranea, SATAP. - - - - « . - - o o . . Milan, Italy
* 4

GENERAL EXPORY DISTRIBUTORS

INTERNATIONAL AUTOMATIC ELECTRIC CORPORATION
1032 West Van Buren Street, Chicage 7, U.5.A.

REGIONAL DISTRIBUTING COMPANIES AND REPRESENTATIVES

ARGENTINA, URUGUAY AND PARAGUAY COLOMBIA :
Luis Pitigliani Cia. Industrial de Telefones. S.A.
25 de Mayo 489, Buenes Aires, Argentina Apartado Aereo 3968. Bogotd, Colombia, S.A.
AUSTRALIA : INDO-CHINA, THAILAND, BURMA, INDIA,
. . . MALAYA, PAKISTAN AND INDONESIA
Amomatic Electric Telephones Limited 3. K. Barrington
Box 1883 K, C.P.O., Sydney, Ausiralia 231/5 Soi Sarasin Lane
BELGIUM, LUXEMBOURG, FRANCE AND Bangkok, Thailand
SCANDINAVIA ITALY
Antomatigue Elecirigue, SA, Auteleo Mediterranea, S.A.T.A.P,
22 Rue du Verger, Anmtwerp, Belgium Via Bernina 12, Milan, hialy
BRAZIL MEDITERRANEAN AREA AND NEAR EAST
Automatic Telephones Limited of Brazil International Automatic Electric Sales
194 Avenida Franklin Roosévelt . C?n‘lsl_any, SPA
Rio de Janciro, Bravil Via di San Basilio 41, Rame, Ttaly
NETHERLANDS
CANADA Auatomatique Electrique, 5.A,
Automatic Eleetrie Bales {Canada} Limited Huygenstraat &
26 Hollinger Road, Toronto, Ontario, Canada The Hague, Netherlands

Other Sales Representatives and Agents Throughout the World



